
System Optimization, Prediction and Control
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Control Theory (1)

● Control theory
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Control Theory (2)

● Closed-loop transfer function
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Control Theory (3)

● Interpretation (1)
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Control Theory (4)

● Interpretation (2)

– Closed-loop transfer function
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Control Theory (5)

● PID Control 

– Most used control design

– Proportional-Integral-Differential Control

– In case of “MIMO” system
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PID Control (1) 

● Another control theory →PID Control 

– Most used control design

– Proportional-Integral-Differential Control
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PID Control (2) 

● PID Control 

– Role of “P”                        :  Minimize current error

– Role of “I”                           : Reflect past error trends

– Role of “D”                          : Prevent future error patterns                             )(te
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PID Control (3)

● Rearrangement of “PID” using Laplace transform
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Laplace transform



PID Control (4)

● Laplace transform (0)
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PID Control (5)

● Laplace transform (1)
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PID Control (6)

● Laplace transform (2-1)
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PID Control (7)

● Laplace transform (2-2)
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PID Control (8)

● Finally,
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